THE DISTRIBUTIVE LAW

Expand and simplify the expressions in this exercise.

1 J5(v2+453) 2 J5(V5++2) 3 V2(V2+48)
4 \3(v2-) 5 J6(V3-2) 6 7(2v5-1)
8 32(2V6-5) 9 Va(Va+b) 10 Vx(Vx-Jy)
14 (V5 +2)(25 +3) 15 (243 -5)(23+3) 16 (V3-v2(2v3-42))
20 (5-42) 21 (2/6++3)° 22 (242-1)(242+1)

Section 13 - Page 1 of 2



THE DISTRIBUTIVE LAW
23 (2V6-3)(26+v3) 24 (VIT-F)(VIT+47) 25 (7-2)(v7 +2)

30 (VIT-I0)(VIT+410) 31 (V6-+5)(V6+45) 32 (2V2+43)’

36 Expand and simplify (4\/5 + l)(ZsE - 3). Some steps in this simplification are given below. Indicate whether

each statement is a correct or incorrect step.

(@ 72-124y3+2v3-3 (b) 24-1243+2V3-3 (c) 21-1043 d) 27-1043

37 (5v2-4)(5v2 +4) 38 (247 +3V6) 39 (2415 +45)(v15-345)
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